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1. ifstream infile("poly.dat"); /I BIPESAR flik 9. pon4.adquuaI(pon2); I/ poly4 = poly4 + poly2
2. HiDPoly polyl(infile), I Hﬁg;tof ¥ HIJ% = 10. poly4.print(“polyl+poly2=", cout); //F[|HIH! ‘éfEI?
3. poly2(infile), poly3(infile); // polyl, poly2 cf 11. assert(poly4.equals(poly3, le- 12)); 1/ Eé“ﬁg T Fe[i
4. 12.
5. polyl.print("polyl =", cout); 13. poly4 = poly1; Il %5 polyd Ei5E#EL polyl
6. poly2.print("poly2 =", cout); 14. poly4.mulEqual(poly?2); I/ poly4 = po yj * poly2,
7. 15. poly4.print("polyl*poly2=", cout); // ¥[|H]|ze/E % Fi=¢
8. HiDPoly poly4 = poly1,; Il {11 polyl FJ;‘!F’} (* poly4d 16. assert(poly4.equals(polyl, poly2)); // %‘ﬁiirﬁeiik
A% polydat p 7 4T A2 5% ﬁi;'l ME g o™
4 8 polyl = 2.1*x/8 + 3.5*x"5 + 5.4*x"2 + 0.6*x"0
32l el POly2 = 4.1%XM2 + 6.5*XM0 + 2.4%X7 + L6*X"2 + -3.5*x"1
254 821 polyl+poly2 =
006 535 4.1%xM2 + 6.5%xM0 + 2.1*xM8 + 3.5%X"5 + 2.4*xM + 7T*x"2 + -3.5*x"1 + 0.6*x"0
1241 25" poly1*poly2 =
1065 1-35 8.61*x"20 + 13.65*x"18 + 14.35*x"17 + 22.75*xM5 + 22.14*xM14 + 42.6*xM2 +
42.4 006 7.26*x"10 + 1.05*x"9 + 5.6*x"7 + 0.71*x"6 + 10.08*x"4 + -18.9*x"3 + 0.96*x"2 +
216 -2.1*xM
1-35

Fw F T AR AL o & A = HiDPoly # %|(HiDPoly.h 2 HiDPoly.cpp) sk 3+
L [6] R4t o BARNDOP F 0 ¢ 2% BRI E T &5 vR R s A7
Sol:
HiDPoly.h, fstream, assert.h, iostream,

2. [10] ¥} & & &4z ) 70 i& B HiDPoly #F % 3 > 3% 5 — B4~ (constructor)
33N o 31,%]» BondE o~ 5358 — i addEqual() & F 303t é TR B S IE AR A Li v —
mulEqual() = f S05% f 85 B SN dpkAek > - B print() 2 f S FrlE- BF
P i ez S5 0 A Bequals() & f 305t 0 5 HIDPolyh #h k@ = 2 2B 4w » 2
TS5BS R SNk (prototype) s R b kAN K & B BT A w BB A
1% 33 B~ (public or private) » ¥ r4 @ * const ih 2 R B *

Sol:

#include <iostream>
#include <fstream>

class HiDPoly



{
public:
HiDPoly(std::ifstream &);
void addEqual(const HiDPoly &);
void mulEqual(const HiDPoly &);
void print(char msg[], std::ostream &) const;
bool equals(const HiDPoly &rhs, const double perror) const;
bool equals(const HiDPoly &poly1l, const HiDPoly &poly2) const;

I3
3. [5] AT FILAEP F H BN 2T G %E - 2 SN 0 X T A
ﬁi&mj*’émeM+X%ﬂﬁ“amﬁTﬁ£4 %38 X5 4 f(x)=1.5x"-2.3xM
AT P Y & HIiDPoly # % & - B3 & B4 = degree - coef ch.53 4 DegreeCoef %
fo it 535 54 e E - I 0 Blde (45,1.5) fo(11,-2.3) 0 & et FR5 HE(inner struct/class)
Sol:
class HiDPoly
{
public:
struct DegreeCoef
int degree;
double coef;
3
3

4. [5]HiDPoly #gwlehf it 2 £ 3 BFHFE - B- % kg% smNF 8% ¥- B F L
o ARE S50 ¢ svector ki 2eds f fie B <9 DegreeCoef 54 ey Jf%’?‘;%—ft RN g
3 B2 ¥2nm HiDPolyh #5% ¢ 2 & ch5l » 3

Sol:

#include <vector>

class HiDPoly
{
public:
struct DegreeCoef
{
int degree;
double coef;
3
private:
int m_nterms;

std::vector<DegreeCoef *> m_terms;

5. [5] s Bk &~ (defaultconstructor) = F 5%, & * =41 ¢ 5| (initialization list)
ELA I o ()

Sol:
------------- HiDPoly.h -------------
(.:.I.ass HiDPoly
{
public:
I.-.|.iDPon();
3
------------- HiDPoly.cpp -------------
HiDPoly::HiDPoly():m_nterms(0)
{
}

6. [10] FHEB I TGS & 559 35 5 RN B 3 > TR S det B poly.dat
2
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------------- HiDPoly.h -------------
#include <fstream>
#include <vector>

class HiDPoly
public:
HiDPoly(std::ifstream &);

private:
int m_nterms;
std::vector<DegreeCoef *> m_terms;

------------- HiDPoly.cpp -------------
#include "HiDPoly.h"

#include <fstream>

#include <vector>

using namespace std;

HiDPoly::HiDPoly(ifstream &ins)
{
inti;
DegreeCoef *term;
ins >> m_nterms;
for (i=0; i<m_nterms; i++)
{
term = new DegreeCoef;
ins >> term->degree >> term->coef;
m_terms.push_back(term);

[20] #3458 % 57 s 4p 4o = | 03¢ addEqual(const HiDPoly &rhs) » 4p 4e chig % 3 s o &k 47
Ee g 385N Bdr(21x+35x°+54%x%+06) + (41x2+65x°+24x" +16x°-35x) =4.1x7+6.5
X0 +21x° 435X +24x 47X -85x+ 0.6 G AP (S eh S BN P TR B L F LA 3
SR EER L REE S B ) S S e lick e LR O ST JNPE = pL= by S 3 = e - S RN 4
A T 2 3

#include <vector>

class HiDPoly

{
public:

void addEqual(const HiDPoly &);
private:
int m_nterms;

std::vector<DegreeCoef *> m_terms;

------------- HiDPoly.cpp -------------
#include "HiDPoly.h"

#include <vector>
using namespace std;



void HiDPoly::addEqual(const HiDPoly &rhs)

{
int i=0, j=0;
HiDPoly sum;

while ((i<m_nterms)&&(j<rhs.m_nterms))
if (m_terms[i]->degree > rhs.m_terms[j]->degree)

sum.m_terms.push_back(new DegreeCoef(*(m_terms[i++])));
sum.m_nterms++;

else if (m_terms[i]->degree < rhs.m_terms[j]->degree)

sum.m_terms.push_back(new DegreeCoef(*(rhs.m_terms[j++])));
sum.m_nterms++;

}

else

{

sum.m_terms.push_back(new DegreeCoef(*(m_terms[i++])));
sum.m_terms[sum.m_nterms++]->coef += rhs.m_terms[j++]->coef;

}
}
if (i==m_nterms)
while (j<rhs.m_nterms)

{

sum.m_terms.push_back(new DegreeCoef(*(rhs.m_terms[j++1])));
sum.m_nterms++;

}

else
while (i<m_nterms)

{

sum.m_terms.push_back(new DegreeCoef(*(m_terms[i++])));
sum.m_nterms++;

}

*this =sum; // - 4zitF & % 11 %E <0 assignment operator

8. [15] # i — 4% addEqual() = F 035 25 B9k o {iE * @ - dEchaddEqual & F
UIEB F 38 N 4p ks B S8 mulEqual(const HIDPoly &rhs) » 4p 3k endg % 12 s i ke i @
15 7858 Gl4r(21x3+35x° +54 X% +0.6) (4.1x2+65x°+24x" +1.6x*-3.5x) =8.61 x° +13.65x'® +
1435 XM +22.75 x"° +22.14 X" + 42.6 X" + 7.26 x'* + 1.05x? + 5.6 x" + 0.71 x° + 10.08 x* - 18.9 x* + 0.96 x* - 2.1
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#include <vector>

class HiDPoly

{
public:

void mulEqual(const HiDPoly &);
private:

int m_nterms;

std::vector<DegreeCoef *> m_terms;
------------- HiDPoly.cpp -------------
#include "HiDPoly.h"

void HiDPoly::mulEqual(const HiDPoly &rhs)
{



HiDPoly sum;
inti, j;
for (j=0; j<rhs.m_nterms; j++)

HiDPoly tmp(*this);
for (i=0; i<tmp.m_nterms; i++)

tmp.m_terms[i]->degree += rhs.m_terms[j]->degree;
tmp.m_terms[i]->coef *= rhs.m_terms[j]->coef;

sum.addEqual(tmp);

}
*this =sum; // ¢+ #cit F & % 11 4Z<h assignment operator
}
9. [5] #% it— B print & F & d Bk
Sol:

------------- HiDPoly.h -------------
#include <iostream>

class HiDPoly
{
public:
struct DegreeCoef
{
int degree;
double coef;
3
void print(char msg[], std::ostream &) const;
private:
int m_nterms;

std::vector<DegreeCoef *> m_terms;
------------- HiDPoly.cpp -------------
#include "HiDPoly.h"
#include <iostream>

using namespace std;

void HiDPoly::print(char msg[], ostream &0s) const

{ - .
inti;
0s << msg;
for (i=0; i<m_nterms-1; i++)
0S << m_terms[i]->coef << "*" << "x" << m_terms[i]->degree << " + "}
0s << m_termsJ[i]->coef << "*" << "xA" << m_terms[i]->degree << endl;
}

10. [10] o *: HiDPoly #Fu|shF & f ¢ 3 B fifle B enfofl» “T U HHER - BIEREHA A F
SR T AR AR SR 80 LAY

#include <vector>

class HiDPoly

{
public:

HiDPoly(HiDPoly &src);

private:
int m_nterms;
std::vector<DegreeCoef *> m_terms;

+



------------- HiDPoly.cpp -------------
#include "HiDPoly.h"

#include <vector>
using namespace std;

HiDPoly::HiDPoly(HiDPoly &src):m_nterms(src.m_nterms)

{

inti;

for (i=0; i<m_nterms; i++)

m_terms.push_back(new DegreeCoef(*(src.m_terms[i])));

}
¥ €8 L ends A Dangling reference, BJ"JL{’;'? 5 2 75%#;] w AR enp (T R e lR Al P,
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11. [10] & 3gap ke ek %] -0 iF - B3K 2F 5 + operator=() & f S350 242 B¢ % 13
714§ @l - B HiDPoly # i (i=¥ 2@ * vector<type>::erase(vector<type>::iterator start,
vector<type>::iterator end) = § 3% %M% vector<type> #r i£ ¢ #15 3 fL)

#include <vector>

class HiDPoly

{
public:

HiDPoly& operator=(const HiDPoly &rhs);

private:
int m_nterms;
std::vector<DegreeCoef *> m_terms;

------------- HiDPoly.cpp -------------
#include "HiDPoly.h"

#include <vector>
using namespace std;

HiDPoly& HiDPoly::operator=(const HiDPoly &rhs)
{ - .
inti;
if (this == &rhs)
return *this;

for (i=0; i<m_nterms; i++)
delete m_terms[i];
m_terms.erase(m_terms.begin(), m_terms.end());

for (i=0; i<rhs.m_nterms; i++)
m_terms.push_back(new DegreeCoef(*(rhs.m_termsJ[i])));
m_nterms = rhs.m_nterms;

return *this;

}
12. [5] & }Azdpfe 0 F] 0 335 B f3 45 ~ (destructor) & 3 v ¥ &, memory leakage
Sol:

#include <vector>

class HiDPoly
{



public:

virtual ~HiDPoly();

private:

int m_nterms;
std::vector<DegreeCoef *> m_terms;

---------- HiDPoly.cpp -------------

#include "HiDPoly.h"

HiDPoly::~HiDPoly()

{

}
13.

:‘gtr I(;i=0; i<m_terms.size(); i++)
delete m_terms[i];
[10] s#E B sk 42 T it anequals() & f &3t > & B &5 a3 f & ¢ 45— B HiDPoly
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#include <vector>

class HiDPoly

{

public:

bool equals(const HiDPoly &rhs, const double perror) const;

private:

int m_nterms;
std::vector<DegreeCoef *> m_terms;

---------- HiDPoly.cpp -------------

#include "HiDPoly.h"

#include <math.h>

bool HiDPoly::equals(const HiDPoly &rhs, const double perror) const

{

int i=0, j=0;
while ((i<m_nterms)&&(j<rhs.m_nterms))
if (m_terms[i]->degree > rhs.m_terms[j]->degree)

if (fabs(m_terms[i++]->coef) > perror)
return false;

else if (m_terms[i]->degree < rhs.m_terms[j]->degree)

if (fabs(rhs.m_terms[j++]->coef) > perror)
return false;

}
else
if (fabs(m_terms[i++]->coef - rhs.m_terms[j++]->coef) > perror)
return false;
}



if (i==m_nterms)
while (j<rhs.m_nterms)

if (fabs(rhs.m_terms[j++]->coef) > perror)
return false;

else /*if (j==rhs.m_nterms)*/
while (i<m_nterms)

if (fabs(m_termsJ[i++]->coef) > perror)
return false;

}

return true;

}
14. [5] #¥# & - B evaluate() = A Jn3% » %8 F - B double A e X HciE » ot f Sz 7 2
i £ C/C++ shmath.h & 3% & ¢ s double pow(double base, double exponent) & 3¢ % 3+
B f(x) s

#include <vector>
class HiDPoly
L
public:
double evaluate(double) const;
private:
int m_nterms;
std::vector<DegreeCoef *> m_terms;
------------- HiDPoly.cpp -------------
#include "HiDPoly.h"

double HiDPoly::evaluate(const double x) const

t
inti;
double sum=0.0;
for (i=0; i<m_nterms; i++)
sum +=m_terms[i]->coef * pow(x, m_terms[i]->degree);
return sum;
}

15. [5] s R skE R 2 Erttabequals() = B &5 %3 f(X)=g()h(x) » & B S5 58 f &
¢ 4£7 B HiDPoly F i g(x)& h(xX) h%~ - = | & 38423 n 38 * 3 C/CH++ehstdlib.h
SR ¢ erand() S S SR PR 1000 B ERECX 0 A B E f(X) ~ g(X) ~ ¥ h(x), TP %
B g(X)*h(X) e f(X) e B 2 F & f(x)*107 cp L F R > 4o% 1000 B ¢ F R
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#include <vector>

class HiDPoly

{
public:

bool equals(const HiDPoly &poly1, const HiDPoly &poly2) const;
double evaluate(double) const;

private:
int m_nterms;



std::vector<DegreeCoef *> m_terms;

------------- HiDPoly.cpp -------------
#include "HiDPoly.h"

#include <stdlib.h>
#include <math.h>

bool HiDPoly::equals(const HiDPoly &poly1, const HiDPoly &poly2) const
{
inti;
double x, y1,y2,y3;
for (i=0; i<1000; i++)
{
x =rand() * 2.5/ RAND_MAX;
y1 = evaluate(x);
y2 = polyl.evaluate(x);
y3 = poly2.evaluate(x);
if (fabs(y1-y2*y3) > fabs(y1)*1e-10)
return false;

}

return true;



